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o,

solving problems : e L ’éﬁ%
Ql. i. Inan IPV4 datagram, the M bit is 0, the value of HLEN is 5, the v u% pf total 3
length is 200, and the offset value is 200, What is the number @the fifst byte
CO and number of the last byte in this datagram? Is this the last ﬁéﬁe‘flt the first
4,6 fragment, or a middle fragment? %, ,% @
ii.  Tn electronic mail, what is MIME? Why do we ne%gpg)las "¢ IMAP4 for 3
electronic mail? o,
Q2. i. If a TCP connection has a congestion window, QW)(‘*' f:16 KB and a maximum 5
segment size (MSS) of 1 KB, how will congesggn*wmdow be affected in case of:
Cco a) A single segment loss detected by ag}l;}eciut ~
54 b) A single segment loss detected by'th Yduplicate ACKs.
(_2) Successful transmission of a complet@ Wi,j’[ Gyhof segments without any loss.
ii. Describe the Dynamic Host Cox ﬁg(ixaﬁon Protocol (DHCP) using illustrative
diagram in detail including foﬂeygm ﬁomts 5
a) The primary purp0§ dﬁ‘ﬁctlonallty of DHCP.
b) Key steps invol 1n I-%CP implementation and role of DHCP server and
¢) Challenges of DHCP aﬁd jssible solutions to address these challenges.
Q3. i. The followmgasa dump of a TCP header in hexadecimal format (7 Marks) 7
CO ... 05320021% 0(22%9;01 00000000 500207FF 00000000
S “fﬁ%tgs the source port number?

b3

b at 1§ the destination port number?
What is sequence number?

. What is the acknowledgement number?
. “What is the length of the header?

What is e type of the segment?

. What is the window size?

Distinguish the TCP and UDP header with their formats. Mention fields in the
TCP header that are missing in UDP header. Give the reason for their absence.

Q4. i.  What are the security implications of key length in symmetric-key algorithms? 5
co Also specify the concept of Asymmetric Key Cryptography.
p .

ii. In syrffmetric key and asymmetric-key cryptography, if every person in a group
of 10 people needs to communicate, with every other person in the group, how

many secret keys are needed?
H



